Installation Instructions
Coffee Table Set

Tips: Do not throw away packing materials until
assembly is complete for small parts may come loose
inside the carton during shipment.

If parts are missing, please contact us.

Assemble this item on a soft surface, such as carpet

to protect the finish.




PARTS LIST

)

Glass tabletop=1

Wooden tabletop=1

Glass

table leg=1 Wooden table base=1

HARDWARE LIST

@

-

O

N

0

N

D)

0

-

Glass tabletop
leg=2

M8*250mm Screw=2

M8*120mm Screw=1

Non-slip pad at
bottom=5

M8*55mm Screw=1

0
P~

©®

0

Hexagonal
screwdriver=1

Gasket for
screws=H

M8*65mm Screw=1

e

phillips head screw driver

for assemble—not

required
include




The wooden table base @) and the

glass tabletop ) are placed at ‘ @
A horizontal position, and the

Step 1

wooden table base &) is used as L (G
a temporary e L\
cushion <:> !

- i J

Prepare accessories: A=2, B=2, G=2, F=1,
Operation method: First put the
wooden table base @ and glass
tabletop @) in A horizontal position,
and then put A accessories,

. Then put the wooden tabletop @ on,

\ and finally align the holes of the

} wooden tabletop @), A and glass table
|

I

| top @O with B and G
/ Note: Don’ t lock B yet

= -




Step 2

Prepare accessories:
D=1, G=2, F=1, H=1,
Operation method:

1. Install the glass tabletop
leg 3 on the glass tabletop @
with D and G

2.Use D and G to install the wooden
table top @ and the glass table leg 3 together
3.Lock B

Step 3
PO

-2 -

Prepare accessories:
C=1, G=1, F=1, E=5
Operation method:

1. Install the Wooden table
base® on the Wooden tabletop
) with C and G

2. Install H on the Wooden table
base® and Glass table leg®

3. Attach non—-slip pads to the bottom

of Wooden table base®@) and Glass table leg®

Note: After the
installation is
completed, it is
necessary to reverse
the coffee table set
with two pairs.

4




	CT014茶几外贸安装图-05
	图纸和视图
	模型


	CT014茶几外贸安装图-06
	图纸和视图
	模型


	CT014茶几外贸安装图-07
	图纸和视图
	模型


	CT014茶几外贸安装图-08
	图纸和视图
	模型



